Jsou dany body M = [5,—2], N = [9,8], 0= [0,0]. Provedte vypocty:
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Redeni

velikost usecky
MN

MN| =, = m, ) + (2, = m,

IMN| =/(0—-5) +(8+2)* =16+100 =116 = 2429

souradnice
stfedu usecky ON

velikost téznice
na stranu n
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s =[9-2] o1 = 1 (123
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4. velikost vnitfniho | _
Ghlu MNO i=M-N =(-4-10)
V=0-N=(-9,-8)
i v 36 +80 0q 47
cosQ = = = p=2634
P Viteias
5. obvod O=m+n+o
mghe'”"ku m =|NO| = \/81+ 64 = /145 = /529
n=|M0O|=v25+4 =429
o =|MN|=+116 =229
0=+29 (3+4/5)=282
6. obsah
trojuhelniku 1 _
MNO Sa =§|MN|.|0N|-sm¢

9 =26"36
[MN|=2+29
ON| =+/5 429
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